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13.1.7

8b (8912) 2 9b (71720 Ky N5 N1I593)

note#1: the latter half of 87721 nw39 details various 7211 1127, specifically owNy nxvn, that must be brought as a consequence of
certain violations. The standard A1 nxvn doesn’t have a static rule — it varies (as to which animal to bring) from individual, 2773,
(750) Nwrand p7 23 (meaning, if the p7 3 erred in instruction and the people violated the law as a result). These are detailed in the
area including vv. 3-6. Separately, the 77111 provides for a nyvn in the case of 771 M2y —vo. 7-8.

Note #2: w53 i 85w I8 NWN can play out in one of two ways:

1)  if brother #1 married, then died, then before brother #2 performed 0127, brother #3 was born; in that case, the woman had a
moment (before brother #2 performed p137)during which she was prohibited to brother #3 as w512 771 KoY 18 NWN; even if
brother #2 performs 0132 and then dies, she is 1109 relative to brother #3

2) if brother #1 married, then died, then brother #2 performed 013’ and then brother #3 was born, when brother #2 dies and she
falls to brother #3, w”1 maintains that he performs 0132 as this is not considered 10512 71°7 R5® 1K TYR
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L Reassessing »27’s inference from anan ,anp» (v. 1) — prohibiting nyayy max
a.  Challenge #1: it doesn’t mention ¥ here
b.  Challenge #2: 7ty mx MR is derived from 117xY (v. 2)
c.  Answer: anp9: only when he could have the option of taking either may he take one; ana» — only in case
of D127 does MI¥ MR obtain
d. Contra: n"np» means they have a normal marital relationship (i.e. if he divorces her, Nk nWR MR doesn’t
return); N1 — may be done against her will
i. 237 infers point #1 from nWRY; point #2 from N9y R NN
ii. 237 uses WYY to teach rule that ny1ap nrvn only applies to violations carrying n13 (11n31), as per
vv. 3-8
IL. nY’s question of »a7 — should be 16 on our list, not 15
a. 11— which should be added?

i. Suggestion: yaR nonR (his own mother who was Yar nonr)?
1. Rejection: that is a dispute (nT "3 forbids contra 1327) — disputed nvay not listed
2. challenge: (N1w) Mxn MR and (1MRY 227N) NVITP MR are listed, although y™ disputes
a. defense: in our chapter, no disputed relationships listed
b. challenge: 1:R lists disputes between w”a/n"a
i. defense:wa is nothing against n”a
c.  Challenge: last item on our list (%Y1 7 ®YW PYNR NWR) is disputed (V™)
i. Defense: he only disagrees in some circumstances (see note #2)
1. note: YWIR '7's approach is rejected
3. Challenge: relative to our list, 17 commented on our mwn: all of these
relationships could lead to the circumstance of nmoPRM N1Y NIMA P19 "R
NNMN IR NX5IN IR NN ROV AMNRY — 7Y nImn 7Y (see explanation on p. 8)
a. M 21 applied it only to the final 9 relationships on the list (since
mia cannot be N9 nImM MY NMOR except in case of V1R and the RN
only speaks of priw)
b. »arapplies it to all, even cases of Ponr will be mentioned — but Ynx nwr
NP1 7N RYW can only play out according to w™ (see next page)
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note #3: explaining the statement: nn2NN IR NN IR NNND RAYW AMNRI = ATD NIMN AD ANORM AY NIMN ArY NNORN

The mwn at the beginning of 3" presents a case where 2 sisters are married to 2 brothers who subsequently die
childless. In that case, both sisters require n¥'on from brothers #3 and #4 who may not perform mza. The
reasoning is as follows:
1) the np’r created upon the death of brother #1 made sister #1 a “partial-wife” to brothers #3/4.
2)  When brother #2 died (before any m12» on sister #1), his wife also became a “partial-wife” to brothers
#3/4;
3) hence, sister #1 is MpIpT MINR as is sister #2.
4) This np»1 is not strong enough to exempt the sister (as if brother #3 was already married to sister #1) so
n¥on is needed
The next mwn notes that if one of the sisters was MOR (as an NM11Y) to one of the brothers, there is no np»1 and the
other sister has a full np>r for oya».

For instance, if sister #1 was the mother-in-law of brother #3 and the scenario outlined above played out, brother
#3 would have absolutely no npt with sister 41 (smnn) and thus would have full npr with sister #2 and could
perform either 012> or N¥Yn.

This case can be doubled; if sister #1 is an M1y to brother #3 but not to brother #4 and sister #2 is an M1y to
brother #4 but not brother #3 — m12» and n¥on is possible in each relationship (brother #3 to sister #2, brother #4
to sister #1).

11 maintained that this scenario is possible regarding all cases in our mwn but nT’ 17 modified this statement
and limited it to the final 9 m»y listed — from 1MnN and on. The reason for this is that the only way for 2 sisters to
be married to 2 brothers and then have them both fall to one brother and only one be an M1y to him would be if
it was his daughter from a non-marital relationship. Otherwise, just as she is his daughter, so is her sister — if
only because she is his wife’s daughter. The same applies to all 6 of the na.

This scenario can only play out regarding m»ya m’n RY® YnR nwr according to w™, who allows such a
relationship when the co-existing brother performed o2’ before the birth of the new brother, as follows:

Brothers #1-4 coexist. Brothers #1 and #2 marry sisters #1 and #2. Brother #1 dies and then brother #5 is born; he is
prohibited to sister #1, but brother #3 performs ma» on her. Brother #2 then dies, and then brother #6 is born; he
is prohibited to sister #2, but brother #4 performs D12 on her. Now brothers #3 and #4 die. According to 113,
both brothers #5 and #6 are prohibited to both sisters, hence our ruling doesn’t apply. According to w™), however,
brother #5 is allowed to perform D12’ on sister #2 but not sister #1. Brother #6 may perform D12’ on sister #1 but
not sister #2.
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